Intermediate Algebra - Review for the Final Exam October 25, 2013

Note that this document contains review problems worked in both morning and afternoon classes,
which were purposely different so that you have more problems to work from when you are studying.

Math Lab will be open Sunday, Monday, Tueday, and Wednesday.
You can still bring up your Khan Academy homework grades for all chapters.

If your final exam is better than your 2nd lowest test grade, | will replace your 2nd lowest test grade
with your final exam percentage.

Homework:
Please make sure each section is labeled, sections are organized in numerical order, stapled,
and your first and last names are clearly labeled at the top of the first page.

5.1 #63-85 odd

5.2 #3-70dd, 15-250dd, 35-490dd

5.3 #25-290dd, 43-510dd, 61-670dd, 89-970dd, 109-1170dd
5.4 #19-25 odd; 27-43 odd; 55-61 odd

5.5 #21-47 odd, 79-1370dd

5.6 #3-131 odd

5.7 #35-49 odd; 51-57 odd; 61-75 odd

Ch 5 Review/Test/Cumulative Review
6.1 #39-79 odd

6.2 #3-95 odd

6.3 #17, 23, 25, 33, 41, 43

6.4 #19, 25, 29, 31

6.6 # 5-25 odd

7.1 #85-113 odd; 39-73 odd; 125-149 odd
7.2 #11-21 odd; #43-510dd; 57-650dd;85-91 odd; 97-1030dd; 113-1210dd
8.2 #59-690dd
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16. Divide the polynomials. Give the guotient and the remainder. Test #3
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16. Divide the polynomials. Give the quotient and the remainder.
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19. Solve the system of equations. If it exists, give your solution as an ordered pair (X,y). Test #3
—_——

s -3y =4 « =2 —bx + by=-3
{;x—g:g -3 ﬁ_‘_ (D:((_ |23

-3(3)= ~G6 \
DX 3(3) 4 2y s 4
3)( - |‘ ﬂ— - A <3 )3>
3xz2 33
20. S(isethe eq{ion for x. (- b) (o‘ ‘°)(o‘ b>
(x—zl)2=31—x - a QQb'l'b
xz‘zxg’ =§’6X (ﬁ’izo ,X-b=0
X =Xx-30 -~ & . w=
ooy (K2 5]

Bonus A: Find the equation of the line that passesthroughthepomts} -4, 7)and —4,-3).
X

5'0‘)& m= 31 fj' = _3_‘:"_ ) —’Ol/fj\ z.)sz)

X-;_—X‘ *‘}-(_ﬂ.)’ O un C)Q:hﬂﬁa

21. Find the distance between the two points ( 8,—2),(—1,-5). Test #2

d=]Gex) +rg) e
“[Cref-Cs ey =Ty |11+
58 |

22. Find the midpoint of the line segment connecting the two points (— 8 -2),(—1,-5).

CXM)S ) X-rK;_ (jl‘fﬂ ‘)51 Xz;bz

8+('3 Z+( s>> ((

24. Find the equation of the line with zero slope that passes through the point (—8, —2).

')) ‘\orl?.on‘lovq
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Find the x- and y-intercepts of the function 6x + 3y = 12. Test#2
26. x-intercept:
oxt3)=12 (7 o \
bx=1Z > {1
X=2

y=1

28. Graph the function 6x + 3y = 12.

VB (@] e

(answer to this problem graphed in blue;
the perpendicular in #29 is graphed in green)

29. Find the equation of a line perpendicular to the line 6x + 3y = 12
that passes through the point (=1,2). 3\(1 =-bx 4 |2

o, endcul -
> Pe(;fepijp_‘_ e %y 90 - 2><.+;f~
o] 2"."\ 32 (-1y2) slope: -
Point-slope eguation :
NINTELSC SN
[ |
J=z(x-Cv) Y axXTz 42
y=2= é()(*# D

J-277x+3

30. Solve the equation =5 — [4(x — 2) —3(2x — 1)] = 2x Test #2

= _a— 3 |= ResuH is aniderk
5-[4x-8—bx+ =2 (%uodw’onM\salu;%‘hue)

-5—E2x'f_g =2X
solut r\se_‘(:-',
-5+2x + D =2%K oaL\oreaﬂ#5=7'R

0=0 & oo ,30)
32. Solve the&rwm?gcgns%u@'.ﬂ_\fgo g_swer in interval notation.
5—-3x<6o0r4x—9<7 L_m
Ix<l 4xzl6 %+

x>gy X=4

—_ 0 | oo )
J
32. Solve the compound inequality. Give your answer in interval notation.

N\ (mtsechen of Soluhon Setfs
3—2x<7and 3x—12<6

‘2X<ﬂ' 3X$[8 y a5 —=
X»-2 X206 -2 b

(‘2)‘0]
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38. List the values that must be excluded from the domain using the roster method. Test #2
(x N(x+9)

fx) =
(x+3)(x—8) 2 3 8

39. State the domain of the function using interval notation.

fw=27 domain - all ceal #s CXCZP{ -9

=== (C=Dvla-)
40. List the range of the function using the roster method, where the domain is restricted to {—1,0,1}.

gz (enges Ouchplt out of Hhe domain
=5 1 -1z :-(Z
£y ED = O E

"F(ox" Mo ,l\L

?~o 2

5. Simplify and state the values which are not in the domain for each variable. Test #4
3__2 3(x%) =X A% -lo -2X
x x-2 = X(x-2) X(x-2 —
T O XX TNk
T2 2(x-2) 5x = =
2x- T + 5%

6. Simplify. a . C

Bt = Y325 v 4

i%\ —5>( R\}ZX QF%:Z bc_zssg
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7. Solve for x. Check your solutions. Test #4
3

5 9 (D) > (M5
VoS

X+5 x+2 x2+7x+10
(<D

D) 5%ty a

9D G dsd SDETY

Xt _ Sx425 -9 a=loc

Gers)X) ~ (xro) (x12) ‘

e S T st
| O90) T eer?y |

IXte=5Sx1]l
b-lo= SX-3¥
10 = 2%
-S=X
3. Multiply or divide and simplify. State the values which are not in the domain for each variable.

2x*+8x+8  x*-25
x2+9x+14  x2+2x—35

=20C+4xr 1) | (x-9)(x33)

XU+ 14 : 6(_}7)@__57

= 2(*#%)()(1“2} . é*ﬁ)()&"%)
A Camd) %

=(2(x+2)
Y+5

> K ?&-ZJ:{JS;S

4. Subtract and simplify. State the values which are not in the domain for each variable. Test #4
2x—1 x*—10x—7
x—4 x*+x-—20

()16 XX—4+D

CQX’D(X“’""l . Xz—ldx—?-
=D+ (x—P(X43D
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= ZX +|Ox =X~ 5-}+0x
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Solve fos X

XUz =2(X+Y)

y X o= o
242 =3x+ 3y o
-3x -3X X — E

A
XYz -3x = 3y —

10. Simplif;;./2 T~ ~ >
F=dE) (= ) {5
. m
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Test #1

24. How much water must be evaporated from 40 gallons of 12% fruit juice in order to obtain 15% fruit juice?

oo | Ve | REETT] i
T;"b/“JAijJ‘ O .1~ 40 (0.12)
J
water| X O O
152 |[40-% | 015 | (409 (015

i

40(012) -0 =(40-)(0-15)

T8=0(L-0.19%
C.15x% =
O.19x

23. Two airplanes are 2550 miles apart and traveling toward each other. One plane is traveling 150 miles per hour faster
than the other plane. The planes meet in 3 hours. Find the speed of each plane.

Test #1

1. Translate the verbal expression into a variable expression in terms of a single variable. Do not simplify.

21. The total of twelve times a number and three less than the number.

/T X3

22. Twice the difference between four more than twice a number and one more than the number.

2 (43— +x>>
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16. Subtract. Write your answer as a single, simplified fraction, and state the values of the variable for whicl

the expression_is undefined. I . 7<
2 1 2 (X+ D

x x+1 = X<x+l> '—‘)’(réx_,_,)

2x+2 =X [ X+2
XX+ 7 XX+ ) X705

18. Simplify.

JEE( 383_ = 4?@5
’8X \(jg p— % X3 3&

19. Divide. Write your answer as a single, simplified fraction, and state the values of the variable for which the
expression_is undefined.
x+3)E-4)  G+3)E-5)
G+D@E-5 @+H@x—-4)

=D E-D A=)

21. Solve for x.

M S DT
KD + = 2lx+s)
X +3)(x43) G+ X3 (x+3)(x+5)
Sx+9+4+ _ 24410
A IR IS

@@3x+l3 . 2x+ 1O :@ﬁ

| B cuytasy |

G413 = 43)(+3)
SA+13=2x+10
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X ="
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21. Solve for x.

( el 2>,(><»><»<~>

x+5+(x+5)(x+3)_

D A 43K 2

o T lerld) | \
3+3)+4 =2(xtS)

22. Rewrite as a radical expression. Do not simplify the radical.
—_—

NI (ﬁ i32>«3t>2>

23. Rewrite as an ex pg ntial expre: n. Simplify the e)l(pression

xyz :§x +y)
2Xyz =3x+3Y

-3 -3X
Xyz- 3% = 35

<
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Test #1

Write a linear (single variable) equation to describe the word problem. Do not solve.
23. Find three consecutive odd integers such that twice the difference between the first and third is 19 less

than the second.

24. 50 pounds of delicious Jamaican Blue Mountain coffee that costs $28 per pound are mixed with Fakin’ Blue
Discount Coffee that costs $4 per pound. How much Fakin’ Blue is needed to make a coffee blend that costs

$15 per pound?

VI. Given the sets A, B, and C (and all the usual sets listed on the first page), determine the following unions, Test #1

intersections, and relative complements. Give the answer in the simplest form possible.

15
A={1,2,345,B= {—2,—1,5,3,3, 5, 6},c ={-V5x}

29. AUN 31.A-B
30. CNQ 32. BUR
VIII. Graph the compound inequality on the number line, and give the solution in your choice of notation.
35.x<3 or x=-5 37.x<2 and x = -3
———t———+———1 ——t—+—+—+——1—1—
36.x>4 or x< =2 38.x>1 and x < -4
&1 1 1 | 1 | 1 1 1 | 1 { } + 4 } | } } | } }
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